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Antitrust Policy and Regulation
CHAPTER OVERVIEW

Antitrust laws, their major impact, and issues surrounding their enforcement, are presented in the chapter.  Natural monopolies and their regulation are discussed and critically evaluatde. Information on deregulation in the 1970s and 1980s is presented.  The chapter concludes with an analysis of social regulation with an emphasis on the importance of determining its optimal level through cost-benefit analysis.

WHAT’S NEW

The chapter has been revised and major sections – “Industrial Concentration: Beneficial or Harmful?” and “Industrial Policy” – have been deleted.  The examples throughout the antitrust discussion have been updated.  The section of social regulation has been expanded with more emphasis on its costs and benefits.

The Last Word is new.  One of the Web-Based Questions has been changed and the other is new.

INSTRUCTIONAL OBJECTIVES

After completing this chapter, students should be able to:

1.     Outline the major provisions of each of the following:  Sherman Act, Clayton Act, Federal Trade Commission Act, and Celler-Kefauver Act.

2.     Identify major issues in antitrust enforcement by reviewing decisions in U.S. Steel, Alcoa, and DuPont cellophane Supreme Court cases.

3.     Identify three current economic goals that may conflict with strict enforcement of antitrust laws.

4.     Analyze effectiveness of antitrust laws by noting how they have been applied to existing market structures, mergers, and price fixing.

5.     Distinguish between three types of merger.

6.     Explain how the Herfindahl index is used as a guideline by the government in deciding whether to permit horizontal mergers.

7.     Identify the options that government might use when a natural monopoly exists.

8.     Explain why a regulated monopoly does not have an incentive to reduce costs.

9.     Explain two major problems encountered in regulating natural monopolies.

10.     State the major arguments for and against social regulation.

11.     Define and identify terms and concepts listed at the end of the chapter.

COMMENTS AND TEACHING SUGGESTIONS

1.     Instructors who feel pressed for time may wish to include some of the content of this chapter in a unit with the market structures—Chapter 24 monopoly—or with Chapter 5 (the six economic functions of government).  This chapter could be used in discussing the deregulation of utilities, telephone service and electrical transmission and its impact on businesses and consumers.  To what extent have regulatory agencies subsidized one set of buyers at the expense of others?

2.     A guest speaker familiar with anti‑trust issues, a lawyer or business person would be an interesting addition to the class at this point.  Local utilities often have a speaker’s bureau you could use as well.

3.     Strict enforcement of Section 1 of the Sherman Act (see text) isn’t really possible since many contracts and business arrangements clearly restrain trade.  The key is to find “unreasonable” restraints of trade such as anticompetitive mergers, price fixing, bid rigging, and other such conspiracies.  Often, there may be local examples of businesses charged with violating the Sherman Act.  Such cases make this section more relevant to students who may be far from industrial or financial centers of power.  Speculation regarding whether colleges and universities violate antitrust price-fixing prohibitions is always fascinating to students.  A 1991 court decision in a case involving some Ivy League schools, and their practice of not competing in their financial aid offers to students applying to several of these schools, challenged the applicability of antitrust law to “nonprofit” institutions.  Students may question the tuition practices of area schools, or whether the food service may have a “tying contract” for soda machines, for example.  

4.     Have the students research a merger of two large companies that have been competing with each other.  Ask the students to analyze the merge as to whether the merger resulted in positive or negative effects upon others firms in the industry and the industry’s customers.

5.     Have the students write critical reviews on news articles dealing with social regulation.

STUDENT STUMBLING BLOCK

There seem to be few stumbling blocks in this chapter.  However, some students do not understand the relationship between court decisions and the interpretation and implementation of laws.  Spend some time emphasizing the importance of the Supreme Court decisions presented in the text in terms of their importance for the future implementation of antitrust laws.

LECTURE NOTES

I.
Antitrust Laws

A.
Historical background is rooted in the decades following the Civil War, when the corporate form of business began to develop and “trusts” or monopolies were formed in industries such as petroleum, meatpacking, railroads, sugar, lead, coal, whiskey, and tobacco.

B.
Questionable tactics were used by some of these trusts, and popular sentiment turned against them.  Two mechanisms for dealing with monopolies were developed.

1.
Regulatory agencies were formed to control “natural” monopolies.

2.
Antitrust legislation was passed to inhibit or prevent the growth of monopolies in other industries.

C.
As a result of public resentment against trusts, the Sherman Act was passed 1890. 


1.
It contains two major provisions:


a.
Contracts or combinations in restraint of trade or commerce among the several states or with foreign nations is illegal.


b.
Every person who shall monopolize or attempt to monopolize any part of the trade or commerce among the states or with foreign nations shall be deemed guilty of a misdemeanor.


2.
Today, the U.S. Department of Justice, the Federal Trade Commission, injured private parties, or state attorney generals can bring suits against alleged violators of the act.


3.
Firms found violating either provision of the act could be ordered dissolved by the courts, or prohibited from engaging in the unlawful practices.  Fines and imprisonment were possible, and injured parties could sue for triple damages.

D.
The Clayton Act of 1914 is an elaboration of the Sherman Act, which was often not explicit enough to be effective.  The Clayton Act strengthened the Sherman Act in several ways.

1.
It outlaws anticompetitive price discrimination among purchasers when the price differentiation is not based on cost and if it lessens competition.

2.
It forbids exclusive or tying contracts in which a producer forces purchasers of one of its products to acquire other products from the same seller or producer.

3.
Acquisition of stock in competing corporations is forbidden if it lessens competition

4.
Interlocking directorates are not allowed where directors of one firm are also on the board of a competing firm.

E.
Also in 1914, Congress passed the Federal Trade Commission Act.  This act created the Federal Trade Commission (FTC), an agency designed to enforce antitrust laws and the Clayton Act in particular.


1.
FTC investigates unfair competitive practices and, when appropriate issues cease-and desist orders.


2.
Additionally, the Wheeler‑Lea Act in 1938 gave the FTC power to police “deceptive acts or practices in commerce.”

F.
The Celler‑Kefauver Act of 1950 amended Section 7 of the Clayton Act, which prohibits firms from acquiring the stock of competitors when this would reduce competition.  This section had a loophole whereby firms could accomplish their purpose by acquiring the physical assets rather than stock of a competing company, and the Celler‑Kefauver bill closed this loophole.

II.
Antitrust issues and their impact have varied throughout the history of antitrust law.

A.
There are two distinct approaches to the application of antitrust law—one based on the structure of an industry and the other on the behavior of firms in an industry.  Two landmark cases reveal the dilemma.


1.
The 1920 Supreme Court decision on the U.S. Steel case led to the application of the “rule of reason.” The Court decided that not every monopoly is illegal if the firm(s) involved did not gain that power unreasonably.


2.
In the 1945 Alcoa case the Court held that, even though a firm’s behavior might be legal (Alcoa had control over bauxite reserves, the raw material needed for aluminum), mere possession of monopoly power (90 percent of the aluminum market) violated antitrust laws.


3.
These two cases point to a continuing controversy in antitrust policy:  Should industries be judged by their behavior or structure?

a.
Structuralists claim that monopolists will behave like monopolists, and this economic performance is undesirable.

b.
Behavioralists argue that the relationship between structure and performance is unclear.

4.
In recent years, the rule of reason has been more dominant.  In 1982 the government dropped its 13‑year‑long case against IBM, deciding that IBM had not unreasonably restrained trade.  Most recently, the government alleged that Microsoft violated the Sherman Act, not because of its dominance in the industry, but because of its behavior.

B.
Defining what is the relevant market is important in antitrust Court decisions.

1.
If the market is defined broadly, then a firm’s market share will appear to be smaller.

2.
If the market is defined narrowly, then a firm’s market share may seem large.

3.
In the Alcoa case, the court used a narrow definition of the relevant market - the aluminum ingot market.

4
The court defined the market broadly in the DuPont cellophane case of 1956 to include all “flexible packaging materials,” waxed paper, aluminum foil, etc. and therefore DuPont, which had a monopoly in cellophane, was not found to violate the law.

C.
Other desirable economic goals may conflict with antitrust enforcement.

1.
Balance of trade: Should firms be allowed to merge if the merged firm is domestically dominant but is more competitive internationally?

2.
Defense cutbacks: Should the government allow defense industry firms that may be losing government funding to merge in order to maintain profitability and employment of workers, despite the concentration such mergers would involve?

3.
Emerging new technologies: Should the government permit large firms in several overlapping industries, like entertainment, communications, software, and computer industries, to merge, particularly if these merged firms will hasten development and improve U.S. industrial competitiveness?

D.
The effectiveness of antitrust laws is difficult to judge. The government has generally been lenient in applying antitrust laws to firms that have grown “naturally.”

1.
Antitrust laws have generally not been applied unless a firm has more than 60 percent of the relevant market and there is evidence the firm used abusive conduct to achieve or maintain its market dominance.  An example of a significant case was the 1982 settlement out of court by the government and AT&T (the telephone company).  It was charged with violating the Sherman Act by engaging in several anticompetitive actions to keep its domestic monopoly in telephone communications.  AT&T agreed to divest itself of its 22 regional phone-operating companies, but was allowed to keep its long‑distance service operations.

2.
In 2000, a Federal district court found Microsoft guilty of violating the Sherman Act.  The court’s remedy was to split Microsoft into two companies and to prohibit each from in engaging in anticompetitive behavior.  Microsoft has appealed the decision to a higher court.

3.
Mergers are treated differently, depending on the type of merger and the effect on the industry.  There are three types of mergers:

a.  Horizontal mergers are between companies selling similar products in the same market. Examples are Chase Manhattan’s merger with Chemical Bank, Boeing’s merger with MacDonell Douglas, and Exxon’s merger with Mobil.

b.
Vertical mergers are between firms at different stages of the production process in the same industry.  Pepsico’s merger with restaurant chains that it supplies with beverages is an example.  (This merger did not prove to be successful and thus Pepsico spun off the restaurant part of the business.)

c.
Conglomerate mergers are between firms in unrelated industries, such the merger between Walt Disney Company and the American Broadcasting Company, and the merger between America Online and Time Warner.

4.
The Hefindahl index is used as a guideline by the Federal government to decide whether the merger will be allowed. Recall from Chapter 25 that this index is the sum of the squared market shares of the firms in the industry 10,000 would be the index for a pure monopoly (100 squared). Generally, the post‑merger index must be above 1800 and significantly changed by the merger for the government to challenge a horizontal merger. Other factors, such as economies of scale, the degree of foreign competition, the ease of entry of new firms, and whether one of the merging firms is under major financial stress are also considered.  Two examples of recently blocked horizontal mergers are the mergers between Staples Office Depot and between WorldCom and Sprint.

5.
Vertical mergers are usually ignored unless they are between two firms who are each in highly concentrated industries.  A proposed merger between Barnes & Noble and Ingram Book groups was abandoned when it appeared that the FTC was going to take action.

6.
Conglomerate mergers have generally been permitted.

7.
Price fixing is treated strictly.  Evidence of price fixing, even by small firms, can elicit antitrust action.  Such violations are called per se violations because they are illegal in and of themselves; they are not subject to the rule of reason.  There are several recent examples.

a.
Archer Daniels Midland (ADM) admitted to fixing the price of an additive to livestock feed, a sweetener made from corn, and citrus acid. 

b.
ConAgra and Hormel paid $21 million to settle their roles in a nationwide price‑fixing of catfish. 

c.
Reebok paid $10 million in damages in a lawsuit in which they were accused by fixing the minimum price that retailers could charge for its footwear.

d.
UCAR International was fined $110 million for scheming with competitors to fix prices and divide up the graphite electrode market.

e.
Seven international makers of vitamins agreed to pay $1.2 billion to settle a lawsuit that alleged the producers engaged in a 9-year conspiracy to artificially inflate vitamin prices.

8.
The Federal government also has strictly enforced the Clayton Act’s prohibition of tying contracts.  The government has stopped movie distributors from forcing theaters to “buy” the projection rights to a full package of films as a condition of showing a blockbuster movie.  Tying contracts, such as Microsoft “bundling” its Internet Explorer browser with its Windows operating software, was declared illegal.

E.
Has U.S. antitrust policy been effective in achieving its goal of promoting competition and efficiency?

1.
Antitrust policy has not been effective in restricting the rise of or breaking up of monopolies or oligopolies resulting from internal expansion.

2.
Antitrust laws have been more effective against predatory or abusive monopoly power, but the effectiveness has been slowed because of the legal process.

3.
Antitrust policy has been effective in blocking anticompetitive merges and prosecuting price fixing and tying contracts.


F.
Most economists conclude that antitrust policy has been moderately effective in promoting competition and efficiency.  Others, though, believe that with the era of rapidly changing technology, U.S. antitrust policy is anachronistic.

III.
Industrial Regulation


A.
Natural monopoly


1.
A natural monopoly exists when economies of scale are so extensive that a single firm can supply the entire market at lower unit cost than would be achieved by a number of smaller, competing firms.  Public utilities, such as electricity, water, gas, local telephone service, and cable TV are examples.


2.
Two possible alternatives exist for protecting society in such cases.


a.
Public ownership, as occurs with the Postal Service, water systems, many municipal electric systems, etc., is one solution.


b.
Public regulation has been the option pursued most extensively in the U.S.  Regulatory commissions regulate the prices charged by monopolies.


3.
The rationale for public ownership or industrial regulation is that uncontrolled monopoly power can be abused. This is the public interest theory of regulation. The goal of industrial regulation is to allow the public to benefit from the lower costs of a natural monopoly while avoiding the reduction in output associated with an unregulated monopoly. 


4.
Regulators seek to establish rates that will cover production costs and yield a “fair” return to the enterprise, i.e., price = ATC.

B.
Problems with industrial regulation:

1.
An unregulated firm has the incentive to reduce its production cost. If a regulated firm lowers its operating costs, the increase in profits will lead the commission to lower its rates so as to reduce profit. 

2.
Higher production costs are passed on to the consumers in the form of higher rates. A regulated firm might give higher salaries for its workers without an increase in marginal productivity. 

3.
Although natural monopoly reduces cost through economies of scale, industrial regulation fosters considerable X‑inefficiency. 

4.
Industrial regulation can lead to continuing monopoly power after the conditions of natural monopoly are gone.


a.
Technological changes create potential competition for the regulated industry (trucks compete with trains; cell phones compete with regular phones).


b.
Regulatory commissions may protect regulated firms out of the belief that new-entrant competitors would serve only select customers, thus resulting in higher rate for those who do not “pay their way.”


c.
Regulators, by blocking entry, may perpetuate a monopoly where natural conditions no longer exist.  The beneficiaries of outdated regulation are the regulated firms, their employees and, possibly, some of their customers.


C.
Legal Cartel Theory



1.
Proponents of this theory contend that regulators guarantee a return to the regulated firms while blocking entry and dividing up the market – activities that would be illegal in unregulated markets.



2.
Occupational licensing is an example of this theory in certain labor markets.

IV.
Deregulation

A.
Deregulation came about in the 1970s and 1980s as a result of the greater acceptance of the legal cartel theory, increasing evidence of inefficiency in regulated industries, and the contention that government was regulating potentially competitive industries.

B.
Industries that were deregulated included airline, trucking, banking, railroad, natural gas, television broadcasting, and telecommunications.

C.
Controversy surrounds deregulation:

1.
One view asserts that deregulation will bring lower prices, more output, and greater efficiency.

2.
The opposing view fears that deregulation may lead to excessive competition and industry instability and that vital services may be withdrawn from smaller communities.  There is also the fear that lower safety standards may result.

D.
Outcomes of deregulation.

1.
Benefits to society through lower prices, lower costs, and increased output are estimated at $50 billion annually.  The gains come primarily from airlines, railroads, and trucking.

2.
Deregulation has lead to technological advances in new and improved products.

3.
Past deregulation has led to calls for further deregulation in other industries, for example electricity.

V.
Social regulation

A.
Social regulation differs from industrial regulation in that it is concerned with the conditions under which production occurs, the impact of production on society, and the physical qualities of the goods produced. Table 32.2 lists the main Federal regulatory commissions engaged in social regulation.

B.
There are a few distinguishing features of social regulation.

1.
Social regulation is applied “across the board” to many or all industries and affects many people.

2.
Social regulation involves government in the details of production. Regulation often dictates the design of products, the conditions of employment, and the nature of the production process.

3.
This type of legislation has expanded rapidly in last two decades, one example being the Equal Opportunity Commission that enforces laws against workplace discrimination on the basis of age, race, sex, disabilities, etc.

C.
The optimal level of social regulation.


1.
While most economists agree on the need for social regulation and that cost-benefit analysis should be used in determining the optimal level, there is disagreement on how to measure the marginal cost and marginal benefit of a particular regulation.

2.
In support of social regulation:


a.
Although the cost of social regulation is high, the appropriate test is to determine whether the cost exceeds the benefit.


b.
The benefits are difficult to measure and are often realized only after time has passed.


c.
There are continuing problems that can best be addressed through additional social regulation, for example, greater regulation of certain food products and health care services and insurance.

3.
Criticism of social regulation:

a.
Many standards are uneconomic in that marginal costs exceed marginal benefits leading to over regulation.

b.
Many regulations are poorly written resulting in regulation beyond the original intent.

c.
Many rules have unintended side effects, such as lighter fuel‑efficient cars having higher fatality rates.

d.
Overzealous, anti-market personnel often work for these agencies.

D.
Two reminders:

1.
There are costs to social regulation. Social regulation can produce higher prices, stifle competition, and reduce competition.

2.
Social regulation can increase economic efficiency and society’s well-being by improving working conditions, removing unsafe products, and reducing pollution.

X.
LAST WORD:  The Microsoft Antitrust Case

A.
In May 1998, the U.S. Justice Department, 19 individual states, and the District of Columbia (the government) filed antitrust charges against Microsoft under the Sherman Antitrust Act.

B.
The government charged that Microsoft had violated Section 2 of the act by taking a series of actions that were designed to maintain its “Windows” monopoly;

C.
Microsoft denied the charges, arguing that it had achieved success through product innovation and lawful business practices.  It also pointed out that monopoly was transitory because of rapid technological advances.


D.
In June 2000, the district court ruled that Microsoft’s share of the software used to operate Intel-compatible personal computers was 95 percent of the market, which clearly gave Microsoft monopoly power.  


E.
Although being a monopoly is not illegal, the court stated that Microsoft had violated the Sherman Act by using anticompetitive means to maintain and broaden its monopoly power.  These actions were taken against Netscape’s Navigator and Sun’s Java programming language.  The court ruled that Microsoft had illegally tied the Microsoft browser, Internet Explorer, to Windows and provided Internet Explorer at no charge. 

F.
The court concluded that Microsoft 
had mounted an attack on competitors and had used actions that trammeled the competitive process through which innovation occurs.

G.
The court ordered Microsoft to be split into two companies.  These companies were prohibited from entering into joint ventures with one another.

H.
In late 2000, Microsoft filed an appeal with a U.S. court of appeals.

ANSWERS TO END-OF-CHAPTER QUESTIONS

32‑1
Both antitrust policy and industrial regulation deal with monopoly.  What distinguishes the two approaches?  How does government decide to use one form of regulation rather than the other?


One of the goals of government in a market economy is to promote competition as a way of achieving efficiency.  One approach is to maintain competition by using antitrust laws to discourage the creation of excess monopoly power such as through mergers or by taking action against a firm that is abusing its monopoly power.  The other approach, particularly in cases where there is a natural monopoly, is for the government to regulate the firm.  The government will choose an approach by analyzing the structure of the industry, the cost structure of the firm, the impact of the firm’s actions on its competitors and customers, industry technology, and the likelihood of new competitors entering the industry.

32‑2
(Key Question)  Describe the major provisions of the Sherman and Clayton acts.  What government entities are responsible for enforcing those laws?  Are firms permitted to initiate antitrust suits on their own against other firms?


Sherman Act:  Section 1 prohibits conspiracies to restrain trade; Section 2 outlaws monopolization.  Clayton Act (as amended by Celler-Kefauver Act of 1950):  Section 2 outlaws price discrimination; Section 3 forbids tying contracts; Section 7 prohibits mergers which substantially lessen competition; Section 8 prohibits interlocking directorates.  The acts are enforced by the Department of Justice, Federal Trade Commission, and state attorneys general.  Private firms can bring suit against other firms under these laws.

32‑3
Identify the basic issues involved in the U.S. Steel, Alcoa, and Du Pont cellophane cases.  What issues in antitrust enforcement are implicit in these cases?


The main issue in the landmark U.S. Steel case was whether the mere possession of monopoly power was sufficient cause to convict a company, or whether illegal acts had to be proved.  In other words, the courts had to decide whether an industry should be judged on the basis of its structure or behavior.  The courts accepted the behaviorist position, thereby implementing a precedent known as the “rule of reason” because it stated that U.S. Steel had behaved reasonably in obtaining its market power.  The Alcoa case decades later dealt with the same basic issue as the U.S. Steel case.  This time, however, the courts reversed the U.S. Steel case precedent and accepted the position that monopoly structure was sufficient for violation of the law; illegal acts did not have to be proven to successfully prosecute a firm for antitrust violations.  The issue in the du Pont cellophane case was how widely to define an industry for the purposes of measuring market power.  In this case the courts chose a broad definition of the relevant market—flexible wrapping materials rather than cellophane—and ruled that du Pont had not monopolized the market.


The common issue in all of these cases revolved around how to define illegal monopoly power.

32-4
Explain how strict enforcement of the antitrust laws might conflict with (a) promoting exports to achieve a balance of trade;  (b) easing burdens in the defense industry; and (c) encouraging new technologies.  Do you see any dangers of using selective antitrust enforcement as part of an industrial policy?


Strict enforcement of the antitrust laws could mean that a merger of two large firms would be prohibited or a dominant manufacturer in an industry might be broken up.  (a) The targeted firms could be weakened, which might reduce their ability to compete successfully with strong foreign firms in sales abroad.  This in turn conflicts with the goal of expanding American exports.  (b) Recent government military spending cuts have weakened major defense suppliers.  The Defense Department and antitrust regulators have reached an informal agreement to ease the way for consolidation of some of these defense industry firms.  (c) Major mergers involving companies in entertainment, telecommunications, computer manufacturers and software producers have led to questions of how strict antitrust enforcement should be in these industries, where emerging technology may benefit from industry restructuring.  Hastening the development of the “information superhighway” could also benefit U.S. exports of these services, which would strengthen our trade balance.


Selective enforcement of antitrust laws is a type of government industrial policy that interferes with the market process to the extent that it favors some industries by easing the way for concentration in some industries and strictly limiting consolidation in others.  Selective enforcement encourages rent seeking and self-interest lobbying efforts, which may dictate policy more than the technological merits warrant.

32‑5
(Key Question)  How would you expect antitrust authorities to react to (a) a proposed merger of Ford and General Motors; (b) evidence of secret meetings by contractors to rig bids for highway construction projects; (c) a proposed merger of a large shoe manufacturer and a chain of retail shoe stores; and (d) a proposed merger of a small life insurance company and a regional candy manufacturer.


(a) They would block this horizontal merger (violation of Section 7 of the Clayton Act).  (b) They would charge these firms with price fixing (violation of Section 1 of the Sherman Act).  (c) They would allow this vertical merger, unless both firms had very large market shares and the resultant merger substantially lessens competition.  (d) They would allow this conglomerate merger.

32‑6
Suppose a proposed merger of firms will simultaneously lessen competition and reduce unit costs through economies of scale.  Do you think such a merger should be allowed?


Abstracting from other issues (for example, the relative sizes of the two firms in the market), such a merger should only be allowed if it can be shown that price reductions associated with the decrease in unit costs will outweigh the probable increase in price associated with the reduced level of competition in the industry.

32‑7
In the 1980s, Pepsico Inc., which then had 28 percent of the soft drink market, proposed to acquire the Seven‑Up Co.  Shortly thereafter the Coca‑Cola Company, with 39 percent of the market, indicated it wanted to acquire the Dr. Pepper Company.  Seven‑Up and Dr. Pepper each controlled about 7 percent of the market.  In your judgment, was the government’s decision to block these mergers appropriate?


The government’s decision was justified.  Each of the proposed merged companies would have resulted in a Herfindahl index of well over 1800, the guideline used by the federal government for horizontal mergers.  Furthermore, the mergers would have significantly increased the level of concentration in the soft‑drink industry, with only two firms effectively controlling four‑fifths of the market.  Proponents of the merger might argue that economies of scale in the industry necessitate the formation of large firms such as Pepsico and Coca‑Cola, but this is unlikely.  (Note:  Later Dr. Pepper and Seven-Up merged and in 1995 were in turn purchased by a Canadian firm.)

32‑8
“The antitrust laws serve to penalize efficiently managed firms.” Do you agree?  Why or why not?


Opponents of antitrust legislation contend that by restricting the operations of those firms that are most successful in a particular market these laws reduce efficiency, penalizing well‑managed firms and allowing for the continued existence of badly managed companies.  Proponents of antitrust legislation argue that firms subject to the laws still have a strong incentive to produce efficiently—the profit motive.  Furthermore, firms with monopoly power allocate resources inefficiently by restricting output below the point where marginal benefits to society equal marginal costs and often act in a predatory way toward competitors and potential competitors.  By reducing monopoly power antitrust laws therefore enhance economic efficiency.  Correctly applied, antitrust legislation probably serves to increase efficiency overall.

32‑9
“The social desirability of any given business enterprise should be judged not on the basis of its market share but on the basis of its conduct and performance.” Make a counterargument, referring to the monopoly model in your statement.


Market share is a good indication of a firm’s monopoly power. A firm with substantial monopoly power will likely use the power to restrict output, charge high prices, generate excessive profits, and act in predatory ways toward competitors and potential competitors.  The mere fact that a firm has significant monopoly power is a strong indication that it is violating antitrust laws.

32‑10
(Key Question)  What types of industries, if any, should be subjected to industrial regulation?  What specific problems does industrial regulation entail?


Industries composed of firms with natural monopolies conditions are most likely to be subjected to industrial regulation.  Regulation based on “fair-return” prices creates disincentives for firms to minimize costs since cost reductions lead regulators to force firms to change a lower price.  Regulated firms may also use “creative” accounting to boost costs and hide profits.  Because regulatory commissions depend on information provided by the firms themselves and commission members are often recruited from the industry, the agencies may in effect be controlled by the firms they are supposed to oversee.  Also, industrial regulation sometimes is applied to industries that are not, or no longer are, natural monopolies.  Regulation may lead to the conditions of a cartel, conditions that are illegal in an unregulated industry.

32‑11
In view of the problems in regulating natural monopolies, compare socially optimal (marginal‑cost) pricing and fair‑return pricing by referring again to Figure 24‑9.  Assuming a government subsidy might be used to cover any loss entailed by marginal‑cost pricing, which pricing policy would you favor? What problems might this subsidy entail?


Many of the regulatory problems associated with fair‑return pricing also apply to a policy of marginal‑cost pricing.  In the unlikely case that a marginal‑cost pricing policy does not entail public subsidies, it is subject to fewer regulatory problems.  While there is an incentive for firms to artificially inflate marginal-cost estimates, there is no disincentive to contain costs and inefficient substitutions of capital for labor are not encouraged.  Some of these conclusions do not hold in the more likely case where public subsidies are required.


Because marginal‑cost pricing fosters allocative efficiency, it is preferable to fair‑return pricing.  However, if the firm requires public subsidies to produce at the socially optimal point, the same disincentive exists to minimize actual and estimated unit costs as with fair‑return pricing, since cost reductions will simply lead to a lower subsidy.  Inefficient substitutions of capital for labor are not encouraged, since regulators are not attempting to enforce a stipulated rate of return.  While public subsidies to ensure allocative efficiency can be worthwhile from an economic perspective, they are usually politically unpopular, since voters are reluctant to provide large monopolistic firms with scarce public funds.

32‑12
(Key Question)  How does social regulation differ from industrial regulation?  What types of costs and benefits are associated with social regulation?


Industrial regulation is concerned with prices, output, and profits specific industries, whereas social regulation deals with the broader impact of business on consumers, workers, and third parties.  Benefits:  increased worker and product safety, less environmental damage, reduced economic discrimination.  Two types of costs:  administrative costs, because regulations must be administered by costly government agencies, compliance costs, because firms must increase spending to comply with regulations.

32‑13
Use economic analysis to explain why the optimal amount of product safety may be less than the amount that would totally eliminate risks of accidents and deaths.  Use automobiles as an example.


To produce an automobile that would totally eliminate the risk of accidents and death would be extremely expensive in terms of materials.  Additionally, the cost of operating such a vehicle would likely be expensive because of the weight of the car.  As additional design changes are considered, engineers should balance the marginal cost of providing the extra units of safety with the expected marginal benefit received from the design change.

32-14
(Last Word)  Under what law and on what basis did the Federal government find Microsoft guilty of violating the antitrust laws?  What was the government’s proposed remedy?  In mid-2000, Microsoft appealed the district court ruling to a higher court.  Update the Microsoft story, using the Internet browser.  What is the current status of that appeal?  Is it still pending?  Did Microsoft win its appeal?  Or was the district court’s decision upheld?


Microsoft was found guilty of violating the Sherman Act.  The court ruled that Microsoft had taken unlawful actions to maintain its Windows monopoly by tying the Internet Explorer to Windows at no charge.  Also under license from Sun, Microsoft developed Windows-related Java software that made Sun’s own software incompatible with Windows.  The court’s remedy was to break Microsoft into two companies that were prohibited from entering into joint ventures.
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